Test Vectors for SEED

Key : 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00

Input
P Plaintext : 00 01 02 03 04 05 06 07 08 09 0a Ob Oc 0d Oe Of

Implementation .
) Round keys Ciphertext
includes

K1 = 61c88647 9e3779h9
K, = ¢3910c8d 3c6ef373
K; = 8722191a 78dde6e6
K4 = 0e443234 flbbcdcc
Ks = 1c886467 €3779099
Ks = 3910c8cd c6ef3733
K7 =72219199 8dde6e67
Kg = 4432331 1bbcdccf 08080808 08080808
Ko = 8864662 3779099 08090a0b 0c0d0eOf
K10 = 910c8cc4 6ef3733c
Ky = 22191988 dde6e678
Ky, =4432330f bbcdcecfl
K3 = 8864661d 779b99e3
K4 = 10c8cc3a ef3733c6
Kis = 21919873 de6e678d
Ky = 43233065 bedccflb

K, = 7¢8f8c7e c737a22c
K, = ff276cdb a7ca684a
K3z = 2fod01al 70049e41
K4 = ae59b3c4 4245e90c
Ks = a1d6400f dbc1394e
Ks = 85963508 0c5f1fch
G K; = b684bda7 61ladaeae
Kg = d17e0741 fee90aal
Kg = 76cc05d5 e97a7394
Ky = 50ac6f92 1b2666€5
Ky = 65b7904a 8ec3a7h3
Ky, = 2f7€2622 a2b121h9
K3 = 4d0bfde4 4e888d9b

08080808 08080808
08090a0b 0c0d0eOf




K14 = 631c8ddc 4378a6c4
Kis = 216af65f 7878c031
K16 = 71891150 98b255h0

K; =61c88647 9e3779h9
K, =¢3910c8d 3c6ef373

Kz =8722191a 78dde6e6
K, = 0e443234 f1bbcdcc

Ks = 1c886467 e3779b99
Ke =3910c8cd c6ef3733

K7 =72219199 8dde6e67
Kg = 4432331 1bbcdccf

Ky = 8864662 3779b99¢
K10 = 910c8cc4 6ef3733c
Ky = 22191988 dde6e678
K12 = 4432330f bbcdecfl
K3 = 8864661d 779b99e3
K14 = 10c8cc3a ef3733¢c6
K5 =21919873 de6e678d
K16 = 432330e5 bedcecflb

e408f3af 38a9c78f
cdle5ccb b664ecl0

GF
(complete)

K, = 7¢8f8c7e c737a22c

K, = ff276cdb a7ca684a

K3z = 2fod01al 70049e41

K4 = ae59b3c4 4245e90c

Ks = a1d6400f dbc1394e

Ks = 85963508 0c5f1fch

K; = b684bda7 61adaeae

Kg = d17e0741 fee90aal

Kg = 76cc05d5 e97a7394
Ky = 50ac6f92 1b2666€5
Ky = 65b7904a 8ec3a7h3
Ky, = 2f7€2622 a2b121h9
K3 = 4d0bfde4 4e888d9b
K4 = 631c8ddc 4378a6c4
K15 = 216af65f 7878c031
Kis = 71891150 98b255b0

5ebac6e0 054e1668
19afflcc 6d346cdb




